
fiber ≤ 7.0
gini = 0.245

samples = 35
value = [5, 30]

class = 1

spicy ≤ 0.5
gini = 0.463

samples = 11
value = [4, 7]

class = 1

True

age ≤ 58.5
gini = 0.08

samples = 24
value = [1, 23]

class = 1

False

fat ≤ 9.5
gini = 0.444
samples = 6
value = [4, 2]

class = 0

gini = 0.0
samples = 5
value = [0, 5]

class = 1

gini = 0.0
samples = 3
value = [3, 0]

class = 0

fiber ≤ 3.0
gini = 0.444
samples = 3
value = [1, 2]

class = 1

gini = 0.0
samples = 1
value = [1, 0]

class = 0

gini = 0.0
samples = 2
value = [0, 2]

class = 1

gini = 0.0
samples = 23
value = [0, 23]

class = 1

gini = 0.0
samples = 1
value = [1, 0]

class = 0


